x| Hot

20204 4 28Y

JES

* 9 -

A ‘

-

! - *
4 o :
KD

Hands-on Reinforcement Learning with the Streams Game [1]

201050} F8H2 7|78H0] X E8he 0t A 2{igdecp learningo] 7| % A N2IFE| M5 YESHRIA, TO)
Ef 7|5t 314 TR0l Ch3t 01717 SR 4D Qs R30I T, B2 HFE TeRS0| ME 01F Botzt

O3 ob=0f 20161 32 EOMRI=S| 2Tt O|M|E 9Bt ate| 58 7| E 4t
MCh[2] HHSEE2 2 &

1
x| FS OpX| o M 22 31o|2t M
O|QUCH Tmf mt a7t A3 HIHS 12+ 5}k reinforcement learningr gy £l MU F=ES

o= -1 O 1 E

|u
Mo r
ro
)]
Pal
olr
1o
|.|'|
gl
mjo
ne
-
5

=]
reinforcementIearning'o|a|.h CIAO|= LHZF A6 2HAlE 2hT QK| o 7||é-|0|9}\-||_-_|.[3][

-, O



22 S7|HoM LIHX] BE2 M A7 SEE M0 ot A7/ 2F2 2, 2= HA{dnt HE0 detd
Sk e SRl 2|2 ULt Ciot & "HOHE WA 2 FAs M Hiel 210 H/ACH EorI =7} s A OfEt2|

r
ot
2
¥
rlo
£Q
£Q
n
e Hu
4
-
=2
x
ma
rlo
ne
o
=2
nE
|.|'|
Hu
Ot
rr
ne
o
u
> H
=
o
-
XM

otet Aol
7|E #X| ot

| >
m
u
>
=
)
=2
°
r
|m
Q
o
3
)
Q
Q
o
=4

OlE AERA Fg, 22T 0] HlYUS AAE Eaijo|sts B

= = =
YHS 2HSH XL SILE BN 1HU M= AEEA AYE 27050 HEXHQ 2 FM 7|8 BH7HK]|

AERIA A2 ‘@5 Xk WA o2t Mgt 4 QICt T Tt EAISHEZ0| O] Aol 74A 2 o2 ZHetst
TEof Qo [5] =25e HEH 75 MHS EX0LKL HEE 20|18 sig@ & US ZHO|CH 3 0f310] & 20
E2|0|7} 7tsst 248 A 0|7| = Stct
Xb, AES AHEXL AERIA Aol = Dot Ho| Zesiot, Trtofl= 20702 Bl Zto] 3t E2 HHE E|0f UCH Y
2 FHL|f| E0 = 152E 307HK| Q| £=XAHS0|Ct, FHL|Of| BHE &= XS QICt O] FHL|O|A LS SHLiA
THLHA Zmtol H1Zto|2tH OfC|2tx i X|SHH EIC), T, X ZHO =2 20712 7Hol| Y S0| B & HHX[ERAS o 71 21
QEK=2| H{EO| 2SN X|=F SFH EC} THH =Xb= FHL|O CHA| EX| QH=CF. (ool Af 0] 7|2 YL $20.30
oz ==7|Z girt)

<

ZOiL

1 2 3 4 5 6 P4 8 9 10 11 12 13 14 15 16 17° 18 A9 2| E2L 22 | 23 24 25 26 27 28 29 30
H| ok

|
T 1 2E 307HXI9] 2AF L FHLIQL 20742 A BT/ ojx



AEEAAY Har= A= NH (£= 28 F) 27 /9 XS ETO| 25 MR LA, L3 A= B2 O
2|0ttt M-S Fotal 0|52 Z5F C{ot0] AIMBIC) o|n 4= 2EXE BiE 2| Z0|0f w2t 7[sta+H o= St
oot &, Z0[7t o ZHo2te O 2V BiE 2 Ha=7t 24 FOFEILY,
M
HE

20|12 3 4567 8 9 10 11 12 13 14 15 16 17 18 19 20
d+101 357 9 11 15 20 25 30 35 40 50 60 70 85 100 150 300

H4E Do

LS At ZO[o| UHE Fp

oT

oA

A
T

300+

250/

200

100/

50| o—1
s o o ° | RLEX}&O]
5 10 15 20 20|

HEt ORI/ ojxa

o

5
E
i
W
rlo
:>|+:
i)al
10
g
I-II
2
M
_lT‘_
r2
Rl
ng
=]
_0
)
Hd
4n
ely
r
10
to
ol
>t
H>
=
ng
o
rm
ful
ra2
I
kl
Jal
jo
T
rir
i



p [Tk Ha: 300
3

4 6 7 9 BN BI28 FIsy 15N ELoN BL7N RLSN F210 238 248 B20N (278 §288 B39

_

40| 20 = 300%F

Be: 7+9+7=23%

1l o 4 O (U et 78 BLZN LS EL5E FL16Y FZ0N ELSN FL7N B238 R240 RZ0N R30N 298 B28

Zo| 5 = 78 20| 6 = 9% Zo| 5 = 78

B3ROl off. FHK QEAECE THE 300 THHQ| of HRE Q2Xp2 0| H40f H A off oju

AEZA AU CHE A2 A2l 37|18 =FY = AUCk= FOICL o|E 501, S5.10 'D|L|" AEZA A |21
HE 107tX[2] At SOl M T 7H2| XHE F2H9(2 StLH 7L, Jmotc oHt ZH Zolof ZEof| 2 X&)
HHEO| E| =5 Ml G2 ECt, OfFA &2 R 2o S s + UACH ARE eSS HAER I 25 H

2|SICH (53] ZetstaMY Alzto] 22 Zale gna|Eol HAEN = UaHo|oh) AEZA HYJS NS Hote A—E

=

I S20.302 2Z2"o=z E0{ 27| M0j S5.100|L} S10.202 2EE7|2 EHEH 20| &o| =ICt,

Ml 0= 2 Ao H-FO[CH Ol AERA Ao ZFEQl [o|40[ct 0| F0o{oF & Chg A7t Of
20| LI=X| 227| 20| Ol HXl e S mtetdtr nj2H2 ¢els &7H 2t2ldof ot S Mlafeh T2k
ZRSIC et AEZA A[Qlo| Zigset A3 E Jhsot7| /ISl = o2 Mol Mz2 OHE S20IE M 2 HeS
S SYH o= T|oF oiCt, T oF Ho| Z2[0| 2 FIIXIS| A S motst o= QIrt, It AEZA AHY of|o]H
E = HMZtoiof SICHEH of2{st 2 dof 2lgt SAIM E42 1Y 5 QU0JOf BICE Of2{o| M 2K AERA AYUS
S0l 2 Aol S4E m4 =71 2ol 2Rt

{E§ 2 THOHE| 1 QICH[5] SHX|SH AT 2T QlOT ZhEtst E 1S 2 EXHA
X Zo|et e Jz|1 L )LHA-Ij'random number generator= ZH|S}X}, Lk A
L Z A 7 5 Lt Bolofls AEE A 20| ZHoZ T M U™ L}, of2f [A84]=
.20,520.309| ZES o= EO{ECt T OtEO= HeEE HAZ|0] QAT Of BS QIalsta, it
= d

O
H71E dAHSHH LI2 =AHE LEA=S UEs AS SHEZ 2 SHLHY HoLE7tH EIC, e SHLEE H-dst
o

Rl OOI-



$5.10

510.20

520.30

520.30

520.30

‘ 20| 1 2 3 4 5 6 7 8 9 |10 | 11 | 12 | 13 | 14 | 15 | 16| 17 | 18| 19 | 26
B 0 1 3 5 7 9 11 15 20 25 30 35 40 50 60 70 85 100 150 300

Z=7| S5.100|M & A S10.207HX| 2t A|0| ELHH |ojM BF S LA0Z MES off =Lt o2l [AB5]=

S5.10, S10.20, S20.3001| et X & 2| of| & Hof ZC



=1
i0.
o0

<|
0

<l

11

Olo|HEE H|

20

18

18
85 100 150 300

17

16
70

15
60

AY olo]HES| tHErS| 5 SIHSHAL

14
50
-based u}

13
40

12
35

30

1

10

25
H\_||-|7||:I|_}search

E
[=]

20

1A A xHE S| off /o

15

11

-basedJ—|_|.

—

7|atrule

20

Ct.

-
—

1

314|5/6/7|8/10(11|9 12‘14‘ 13 15|16 19 27 30 29 32

2o

213|5|4|7|6]/8|9]10

& E2| Okt

pl

—
= =

=

510.20 1
520.30 . 2
520.30.
$20.30

¢F 0[0F7|

F

™, S5.10, S10.20, S20.30 AI¥0M HBFHM2= 528, 14.2F, 5082 o

S2i|0|12 o=

o] Hel gl=

1l

-
o
[

[\¢

Klo
30
m__m

E{RC J2fAM HE

ALt “7|ES| 'R0tet 22| F

AN

| AE 23 9

[e)

L
&t o

X|ofl cH

L

—

StoF ot

2
S

" THA| At

F

=

.
o

st



oj2| g2l

—

—

ot

If-Then-Else &

—

—

F

Ch (25 HEE| 2L0|A

K i T o R0 0 %o
[} R AU oy ™ ol
o = o i o8 S M
= mw ol R g N OF
i NS TR M =
1o KoJ of g 2 wo
RO M Os X3 m
ol WK 2w =
o KR = o T g
i 0 o o )
ﬁ = = Ao OR g
0 W X 4 ’oKEow
_Aﬂ O_ K = = I__AI )
5 - @ oo <
S0 HAXEDS oo
Hows — = WU F
S W ol M W T & -
o <H Rr xﬁla_:zm__m
- gr = o [ 0
= mn_| Bl = XM <| M
T o I W L T
>3 Boowox o
" ol K AL m_e
TR oy Mo KR
o = o =z CLUS
Ui o =l - ] X =
- o Ko 5 - M
A Y oF MO oo
K+ o B o 3 1
KM o= N
ol = 4 © = o
o 0] M - 7N o/ ol
Bl 0 S EHS & Z
s ™ H O i
Jo ™ w2 = 0o
g JEscsay
ol = L oy o — %0 p
—_ — o] ﬂﬁ = = oa
0 o oy o 100 <F
B R Mool o 5
el 1 M0 oup mr B2 &
or O = M )
e TN R
W B o T s ==
LR m_._._._ . 2 m.._._n ol i
oM Ry & 8 4 =
* = W ao w2
<F o K o3 B om oy -
m o M < K20 ma
S o3 = oIl 9%
—_— —_— —_— —_ —_ — {0 —_
s Ko do oL
=N o ®K 33 3 H %ol

HA

XIACE) A,
7k? o2 7HX| ot

gl
H

-
o
[

M
= Xta| 7}

—

=

[=]

I.

=

e

X|LEXIA|

—

0f, ZEH0l M 61t 80| LIEHS]

FindDump(]2t1 O]

0fOF StX| 2, 0[O] 622 8 ALO]Of|

i)
o

SHA| = ALt 23]2 0
LA

Zt
O
=

=~ =

pSfe)
Lt o 2miotct o HE2ES MOk

o AL
82 &
2
|

Of Al

7

|

=

I

st
C}. 6

o
7C>:|_I_

F

L
—

f

7k? O] =X OFE =4t

=

71' T
==
o

_

—

OfC|Of| BHX|S



1. FindDumpl[] 20 #4S ="85t1 =2182}= o]

(* Policy # 2.3.5.10-- In the extreme position -- 50.4746 x)
(*seq=
MinimalBy[slotL,
fMeasureSlotSeq3[#,slot] A
(0.1MineTotale (Abs/@{#[[2,1]]1-n,#[[2,2]]1-n}))&] [[1]] ;%)

(*» #2.3.5.3 -- A naive slot selection,
which does not consider the numeric values x)
p = If[Abse (seq[[1, 1]] - e@) < Abs@ (seq[[1, 2]] - el),
seq[[1, 111, seq[[1, 2]]];
(*p=If[Abse(seq[[2,1]]-n)<Abse(seq[[2,2]]-n),seq[[1,1]],
seq[[1,2]]]3+%) (*50.4917" )

(» #2.3.6.[16,19] -- To handle bug of [2 6 0 1 10]

or [2 0 1 8 10]%)
If[(seq[[1, 2]] -seq[[1, 1]]) =1,

If[slot == {2, 0, 5, 0, 0} && N1 == 1, Returne@2];

If[slot == {0, O, 6, O, 9} && 11 == 10, Returne4]

15

If[(seq[[1, 2]] -seq[[1, 1]]) # 2, Returnep,

If [MemberQ[{{2, ©®, 6, O®, 9}, {2, 0, O, O, 10}}, Slot] &&n =1,

Returne2]];
(*Printe{slot,n,seq};*)

2. FindDump[] gf==0fl MI2HQl &S =0t of

ClearAlleRescaleSlotIndex

RescaleSlotIndex[seq_, slot_, n_, bBalance_: False, €0_,
el , maxN_] :=

Module[{inSet, outSet, targetSet, q, p, r, q® =1, tL, th,
tR, rr, compSet, pos, booll},

inSet = Append[Range @@ (seqg[[2]] + {1, -1}), n] // Union;
outSet = Select[slot, seq[[2, 1]] < # < seq[[2, 2]] &];
targetSet = Complement[inSet, outSet] // Sort;

(*If[True,Printe{inSet,outSet,targetSet}];=*)
q = Position[targetSet, n];
p =If[Lengtheq >0, q0 =q[[1, 1]],
If[n< targetSet[[1]], 1, Lengthe@targetSet]];
r = NeRescale[p, {1, LengthetargetSet}, seq[[1]]]}
rr = Rounder;

(* #2.3.6.[17,18] -- S5.10 -- M5.2046 (2017-10-27) %)

If[(seq[[1, 2]] - seq[[1, 1]]) == 3,

If[slot == {0, 0, O, O, 10} & 1 ==2, Returne@2];
If[slot == {0, O, O, O, 10} & N =5, Returne3];
If[slot == {1, 0, 0, O, O} && N ==9, Returne4];
If[slot == {1, 0, 0, O, O} & N == 6, Returne3];
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Comparing #2.3.5.1 and 2.3.6.3 — #5
Streams
Player Play Score
1 2 3 4 - 6 7 8 9 10 L} 12 13 14 15 16 17 18 19 20
Input 078 HON MOl B25N N7 WON 4% WSW F258 RIS §26 = = = = = = = 11
2 3 4 5 6 # 8 B 10 1} 12 13 14 15 16 17 18 19 20
#2.3.5.1 28 IS5 N6H o o s 18 19 25 26 28 S 62
2 3 4 5 6 7 8 9 10 1] 12 13 14 15 16 17 18 19 20
#2.3.6.3 28 ISl NGH NS 128 B4 18 19 - 251 28 = = = 26 23
4 3 3 4 n 7 8 n 10 11 13! 15 16| |17 20 |22 (22 23| |24 27 29 30
Streams
Player Play Score
1 2 @ 4 5 6 7 8 9 10 " 12 13 14 15 16 17 18 19 20
Input 128 1N Ol BZ2N B2 BOH Fi4W Mol R258 BiRN F26N 8 = = = = = == 11
2 3 4 5 6 7 8 9 10 1" 12 13 14 15 16 17 18 19 20
#2.3.5.1 2% D58 N6N N9 12 14 18 19 25 26 28 - 8 - 62
2 3 4 5 6 7 8 9 10 " 12 13 14 15 16 17 18 19 20
#2.3.6.3 20 B5H N6N 9 12 14 18 19 - 25 |28 8 - 26 23
1 s+« HHE 'HB > "B:HB-> « "BBE» 2> 22z BB B » »
Streams
Player Play Score
1 2 3 4 5 6 i 8 9 10 " 12 13 14 15 16 17 18 19 20
Input 178 HON ROl B22N P MOH I ISl 25N B F2CN e B2 B20N I B2 = == 11
2 ! 4 5 6 7 8 9 10 " 12 13 14 15 16 17 18 19 20
#2.3.5.1 izt a] e 12 14 a2l R19N W2a8 258 R260 R22N (127 8 20 62
2 3 4 5 6 b 8 9 10 1 12 13 14 15 16 17 18 19 20
#2.3.6.3 [ VN BSH CH O 128 W 18 19 21 258 22N 278 8 20 26 23
0O ‘850 0f--8:0- - OA0A- - - AEEA - -
Streams
Player Play Score
I 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
Input (08 NON oM §220 N NGH B4 NS $250 SN R20N INE BOAN F208 I B2 NieN ISON 11
2 3 4 5 6 7 8 9 10 " 12 13 14 15 16 17 18 19 20
#2.3.5.1 13 B2 S WoN S 12 14 16 18 19 21 25 26 28 27 30 8 4 20 62
1 2 3 4 5 6 7 8 o 10 " 12 13 14 15 16 17 18 19 20
#2.3.6.3 0 20 NS NCH NON AN 17N Nas NN B2 FoN B2 25 28 27 8 30 20 26 23
OB 0E0 08--8-8-0- 08008 - - - A6EE - 0

1. 26@30. CHECK: (1) slot snapping at terminals; (2) do not consider the live numbers in
the main buffer, when rescaling in the sub buffer.
2. 8@17. It could be good choice considering #16 as the sub buffer.
3. 27@16. BUG: It should be at 18 considering the live—at—sub (LAS) numbers are
{3,4,7,17,29,30}.
4. 4@6. Not a bad choice in EM: 35x2=70 vs. 25*3=75.
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mL={7,5, 4, 3, 1};
scorelLL = Module[{inL, scorel},
ParallelTable[
inL = Select[sL, MemberQ[#, num] &];
scorel = Table[Select[Transposee {inL, ScoreSlot /@ inL},
Position[#[[1]], num] [[1, 1]] =1 &], {1, 5}];
Table[Select[#[ [All, 2]], #=mL[[]] &] & /@scorel, {i, LengthemL}],
{num, 10}]
15
w=4;
countLL = Table[Total@Table[N@scorelL[[1]] /w” (i-1), {1, Length@scorel}],
{scorelL, Map[Length, scorelLlL, {3}]}1];
poslL = Ordering[#, -1] & /@ countLL // Flatten
mL={7,5, 4, 3};
es = ConstantArray[0, 5];
PlayStreams510BS3 [ input_] := Module[{slot, n, eL, cL, totallL, bestL},
Table[
n=17nput[[i]];
IfEl =1,
slot = ReplacePart[es, poslL[[n]] = n],
el = Position[slot, @] // Flatten;
cL = Table[Cases[sL, ReplacePart[Replace[slot, 0> , 1], i»n]], {1, eL}];
bestlL = ConstantArray[0, Count[slot, 0]];
For[i=1, 1s4, 1++,
bestl += Table[Lengthe (Select[#, #2mL[[1]] &]) &@ (ScoreSlot/@s), {s, cL}]/ (WA (i-0));
If[(Lengthe (MaximalBy[bestL, -1])) > 1, Continue, Break[]]

15
slot = ReplacePart[slot, eL[[Ordering[bestlL, -1][[1]]]] = n]
1, {7, 5}];

{ScoreSlote#, #} &@slot
]
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